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Base your answers on what you studied in

Biology:

1- Choose (A) or (B), then, write the
scientific term:

(A) Introduce a part of DNA from one
organism into cells of another.

(B) Enzyme which hydrolyses DNA
completely but it does not affect the
proteins or RNA.

ﬁg@y‘ 33‘-&&,&&&“)3 Lﬁ;}-‘égﬁ
22.4..35" Z\MS"&:%G

(<) 9 (1) oudtgmuad )t pisnf =
¢ dle JIA alal pllaaet| US| @3
I Jalsd I DNA (e s 5 JUsal (1)
A G LS I >
dulod e 3yuall 4 @33l (o)
¥ 4l ¥ Sels M3 DNA
RNA g1 (339581 e 2%

2- Choose (A) or (B) then,
mention the importance of:

(A) Tendrils of climbing plants as pea

(B) Acetylcholine in muscle contraction.

(<) 9 (1) ot gmadt s pisn) - Y
1093 ag @

SY)LIIS daluial SBLAY 3 Gt (1)

Aldaall Gl b (oS ¥ ()
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3- Choose (A) or (B), then, give reason: s dle @3 (0) 5 (1) ol guadt ds 2500 ¥
(A) Using laboratory means such as | 2»llS aulenes Jilug plasiu! (1)
centrifugation or exposure to a limited | ¢3! Jlawed! 9l (G55 1!

electric field in gamete banks Zlae ¥ g B sgumall
o A S gl oW et (o)
(B) Male gametes have the ability to move. 28,1 e 3yuall,
4- Name the used techniques in: (39 S (o8 Aaiunall ALE) ol L1 -

1*: Obtaining a full carrot plant from some | j3> ©lo ole Jawamt! : ¥y
of its cells. LM (e fye JalS
2M: A mature ovum is obtained from | olsem Lo ls couas 3l pel diags : Lols
a wife’s ovary and being fertilized | uaug 3 Lgule s Leag) o g3
externally with her husband’s semen | ;a0 o 11 Jusi i citie
in a certain nutritive medium till | . . . .. .
u Ao gl ) B lee ) alaa
reaches to the morula.
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5- Choose the correct answer:

®O0eE

From the Biochemical immunity
mechanisms in plants ........

The cork formation
The deposition of gums
The formation of tyloses

The production of Phenols

“Nucleic acid molecule fold back in
characteristic loops, which are held in
shape by base pairing between different
areas of the molecule”

Write the name of this acid, what is its
function?

[4]

: Jadd dovonall dala ¥ sl -0
ilasS s Aelial) SLIT (y

skt pusss (D)

pan 2l ($990 e £S5 =

daaism CGilals (S dbl |

2 e lgatl plgasla Ledsdn
.s&;}qn..ﬂ(_,.nla.\./.a.n' vEP AR WY

g .pentt 10D p;wl‘g.t:t‘s‘
Aladsy
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7- This part of DNA is carried this Jont DNA dan jdi (4o ¢ jo> St -V
sequence after mutation 1 3 ko rgia e (L 4 LI
3..TACCCGAACATTCCAATC...’5

1*: Write the sequence produced Aalae (po Ll ki) LS ;!,1
from treating this strand by RNA RNA 3 pols o 300 syt 1202

polymerase. aise¥! alea¥l s @S Lol

2": How many amino acids translated da pdd 11248 daam 53 (0 AL |
from this produced strand? Why? e e Sl

8- explain by drawing a labeled diagram | OGLudt dde g dadd ey iy -A
the structure of bony vertebra. . Areliall 3 3at oS I
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9- The following figure represents the L S s g9 -4
structure of antibody, answer the R P-W (PPN (P S
question: d o) G ¢ gud (B
1¥: 'What are the numbers (2) & (3) refer to? Al pudin 60 Lo 5 ¥y
2: How is the specificity of the antibody § (%) 9 (Y) Olead 31

determined? aaid sdmis LA | Ll
Salas muws JS
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10- Choose (A) or (B) then, write the @3 () 91 (1) ottt guad | 25 ) =\ 0
scientific term. v dde J1 alall pllasaalf COST
(A) A deep depression which the head of | i) acd ,aticn caygami(§)
the thigh bone (femur) fits. LAl elac
(B) A cytoplasm of muscles. (Shaatl B a3 gt (o)

11- Choose (A) or (B) then, what is meant by : | (&) of (1) Gt gudt i s -\
(A) The acidic gastric juice. P A 3guadall Lo S0 @3
(B) Tyloses. iaalod i Baast i O30 (1)

Slekadt (@)
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12- Choose (A) or (B) then, mention the site
and the function of:

(A) The sertoli cells.
(B) The stigma.

(@) 91 (1) gt A pint =\ Y
+ Aads gl g oISal) HS31 @3
A9 2 (1)

cesied | ()

Site
Ol

Function
dads g

13- Choose the correct answer only.

1 Jadd dovoval| Asla |yt -\ Y

The secondary oocyte is developed into | 4 gilid) dccacd) adsstt Ja=is

an ovum in...........
the Graffian follicle.
Fallopian tube.
the corpus luteum.

Uterus.

®0E
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14- Explain the following : t ol be pud -\ &

After destroying the antigens, the T | iu,alicluomdd¥ e sliagt da
suppressor cells (Ts) bind with the help T Aadial) 2500 LMY da )3
of the receptor CD8 found in its surface,
to plasma cells, T-helper cells (Tu) and T
cytotoxic cells (Tc)

Lt ae CDg Jiuad | dlal g
AL LS g dee )M B asLds
T aeladty Ty daeLued

15- What would happen if? S eeee e Sy 13Le -\ O

The cell cannot be unwound chromatin | calad ¥ ela Sle Lgs yud ddst i azd
and its condensing at least into a string of | sgiue 31 (uileg Sl uasitly

nucleosomes il g 9IS 9081 (g0 das

[9]
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16- The given figure represents the S 55 Elalel (AN S gl -\
structure of human sperm, answer S okall (3 gund!
the questions: P AGY ALY e cn | S ¢ gus B

19 What is the role of structures (3 & 4)? | §(5) 5 (v) (s 2 (y0 JS 393 Lo : ¥l
2": What is the secretion of no.(1) ? | §(1) a8, o 01 Lo i it a3kel Lo : Lols

37: What is the number of 3(Y) pdy ceS 511 (o8 Sldaaltduc e : Lty
chromosomes in part (2)?

r19/0-1A Joll joaJl - A=alpoll Aulhhl) A A i



YA/ YNNGl 5t alalh = J 9 5 9ad) - (A 3ulad W1 ARULY) o Lo ) Aalall A g3 Al ) ALY 3lgs loniial

17- Explain the effect of each: ) :\s ol mdg -\V
1*: ‘Shortage of iodine on thyroid gland = | sLatty sluatt ;2 3501 e - ¥ gl

2nd: Adrenal medulla hormones on liver & | -&@y-3134a1 e 156819
heart st gl olign ,a s Lils

.g.\.ﬁ.”j A.’SJ"’.‘LE:[)JQS.”
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18- The given figure represents a piece of | duajdhig DNA (o dakad JSEH fias - \A
DNA and plasmid. . JelS da 58 oy Tspe g
Explain by fully labeled diagram how | z.t.ati 000 Guat a8 Sl
do the piece can be joined together. | s3SI

R AAGCTT AAGCTT
TTCGAA TTCGAA

e O | !
Plasmid DNA (40 datad
Piece of DNA
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19- Choose (A) or (B) then, write the
scientific term:

(A) The ability of the egg to develop
to a new individual without being
fertilized by a male gamete.

(B) Fusion of 2" male nucleus (N) with
the two nuclei of the embryo sac (2N)
forming the endosperm nucleus (3N).

@ (@) 91 (1) ot gt | pinl =14
z%«lﬂd'-ﬁ‘g&hﬂ@hﬁd'%&g!
35 (39S 9ol ol By 13,48 (1)
Sl il (pa oliad | g
AL A ,SA0 819 plewd! ()
lodil (po 23U 31 pe
ORI il ST il
(OF)p g3 ¥ 15153

20- Choose (A) or (B), then, explain:
(A) DNA sugar phosphate back bone is
asymmetrical.

(B) The amount of DNA in species’ genome bears
little relationship to the complexity of the
organism or the number of proteins it produces.

() 91 (1) ot gmaad |ty =Y

oyt 2 Glawsh ,Sull JSua (1)
.Jilsie e DNA

Sl gimall 53 DNA et (2)

SIS s e 48 Me Lgt coud

g8 1 Clidig pd 3e gl oot
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21- Choose (A) or (B) then,
mention what is meant by:

(A) Inflorescence
(B) Perianth

() 91 (1) ot gmiadt sy =YY
H -\‘9-462-6-“ LAJ.SN‘Q:’
.ij.'d‘(;‘)
S AMatl (©)

22- Choose the correct answer:

Sporozoites in plasmodium life cycle
divides in liver ..........

Sexually by gametes to produce
gametophytes

Asexually by schizogony giving
several merozoites

Asexually by sporogony giving
several merozoites

Sexually by gametes to produce
merozoites

® 0 @ 6

+ Jadd dovouall Al ol =YY

2503903 S N Bl 3393 b
QL’.’Q&}}JMY‘ p.u.ﬁ.u"' L:UMQ-“

O 8Sa plae ¥l Lo o

@
) @3 it L
=t @3 S
O,
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23- What would happen............ 2

If the second line of defense failed in | Hlus¥!eust ltiplaadidas Gas]
getting rid of the foreign body e ya e (o b

§ ees 13 Gk 13Le - VY

24- Compare between: 2 Alecd) LM Gy (y18 -V E

Interstitial cells in hydra and in man POl g ygl! (o S

Interstitial cells in hydra

Interstitial cells in man
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25- Draw a labelled diagram for female | SLLW JwlS au Il iy -Y0
reproductive system ( ventral view) PR i { [ W o (R WP S {

(olel ptaie) Hlud¥|
26- Stlldy the JSL) gyt =Y
following figure /,*I_l I Iy roal @ Jalaa
then’ answer: (4) E SRS TEE E J‘M'pﬁjﬂ.\.\.} : ;2(3‘
1*: Mention the ; ] m "'E o0 O e
number which )“"*-»E-- ™ sy
represqnt: (1) (2)Zone (1 ) e
a. Actin : ~ Ol -
. Line Line
b. myosin

2": What is the name of the distance | (yo ddluet! ews e : Lol
between two successive lines (1) | §(1) uedlinett ypdasts

3": Why do the smooth muscles are called | slutel! @3laall ol Bled : LG
unstriated? Salatasead) pl OSaally
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27- A strand of DNA carry the following | Jeso DNA o doo y2 Shoat - YV

sequence : P fwi [ ¥ ]
3..AATCCTGAGGTC...’5
1%: How many purine bases and complete roa ] D ¢ 0ud B
twists in this strand? osed! delgd cpe JS s oS ¢ Yl

2" Write the nucleotide sequence of the | Sdasyadl s b alelsdi claltly
complementary DNA strand. Mention | uay yas ol g8 sl pali casi + Lals
the name of used enzyme? 53 g +dse JalS gt DNA

peiied| @31 !
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28- Choose the correct answer

The cells which attacking the transplanted
organs, body cells infected with the virus
and carcinogenic cells are......

B- cells

Suppressor T-cells (Ts)

Helper T cells (T,)

Cytotoxic T-cells (or killer T cell) (T )

®O0E

29- Choose (A) or (B) then, give reason:

(A) Cartilage found usually at the tips of the
bones and between the vertebra of the
vertebral column

(B) The most acceptable theory for muscle
contraction is the theory of sliding
filaments

30- Write the scientific term:

+ Jadd dovowall Al i) - YA
e gy el sliae W1 @ lgd S LSS
ougrrally dlaed! muant! Lidsy
NI AU (LY ES ()

B astauasa @

Tg aoulst1 5l adagiadt LA L @

T e Luad | ZGLS 1 LM @

T atstar of doludt A8 LIS @

(u)j‘(‘)u,.ﬂ}ud‘ Ay -Y4
e o
e LALe Gayleaatlagay (1)
Oy g allaatl ol bof
cgolaatt 3 gaall
Aa) el do gt e yB ol ()
il gyl gl (ye
O aatf yalas!

e JIAN olall pllaiaell ST -Ye

A phase of menstrual cycle in which the | ;=i led b cealatiayg o Al 1o

ovum liberate and corpus luteum is formed.

SEPS [P WER(RNTSPERNPR]
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31- What would happen if............ 2

Viruses have RNA genomes uses reverse
transcriptase enzyme

T e S 130e =Y
‘“_,_U‘Ql_‘_ujji a3l Al
"_,.nog.s_«_"’_.‘“,_«_«_ﬁ_ﬁ'*. Lo gl

Sl l gaid | @33l MRNA

32- Write the scientific term:

The first line of defense to prevent
pathogens from entering and spreading
inside the plant.

f e JIul alal) allaaelf ST Y'Y
o das e Auande jals>
(0o s pod!| Olipusad | pal S|
AL HLas ¥ LA 3 J gt

33- Write the numbers of chromosomal
sets in each of:

1:00kinete in plasmodium life cycle

2nd: Drones.

Adcal! Ole gammell ade COS) =YY
10 JS 2
3393 o2 S | jadati: ¥yl
LoSlat!p g3 903 M Bl
el | Jomd 83 : Lals
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34- Choose (A) or (B), then, compare:

(A) Bone marrow and Payer’s patches
( concerning : site & function)

(B) Precipitation & Lysis

() 9 (1) ol gmaadt i yisnt - V8
t yld e
O ) s pdg altaali plas (1)
(dauds oty HlSdf Co
i g o, (o)
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35- Look at JalGalt JSEN (st =10
the figure o el @d
then, s AIL Al
answer: f

lst: What ML#&&S‘:Y}‘
is the Oled 1 ady
numbers

A(Y) 9 ()
refer to?
2"d: Explain: the two DNA strands are Wos o 9950+ pwid : LGS

always at the same distance from one | @aluwal! yuas e DNA
strand to another along the length of | (e yaedlloginns (4o

DNA molecule DNA £ 3 slue!
36- Explain the role of each: : uﬁdS 293 b =Y
1*: Relaxin hormone eSS (g0 50 ¢ gl
2" Aldosteron hormone L9 i g 3NN (g0 5 ¢ LS
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37- Choose (A) or (B), then, give reason: | (&) gi (1) cudiimud) dsi il =YV

(A) “Zygospore of spirogyra remains e
dormant before forming new filament. | 8 Zoegs,ad a=ds as (1)

(B) The maturation of the fruit and seeds | 04 258 &Sk gyl
often leads to discontinuity of the | -fuus Uad (s ol Ll cd gl
plant growth and sometimes t0 itS | ) Wle yidly jleidl puiai 6% (<)
death, especially in annual plants | i, ol sl gaill fiass

Old gl B Aol g diga |

38- Choose the correct answer: + Jadd Aseouall Wl W1 G5 -YA
Enzymes of DNA repair ................... DNA 0gie 3o e Josii Olag i

(@)  DNA - helicase enzymes SN

(b  DNA - ligase enzymes et ()

(©)  Taq polymerase enzymes el s I @

(@  polymerase enzymes Betdt ()

39- What are the results of: § el e A et i Le - Y4
The excessive spasm O W Gliaall Ad) Gigus
o |
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40- Write the scientific term: t ole 1A elal) mllaaad| CGSH -6 0

Enzymes interact with the toxins produced | Jelad libad! Lgaiid Cilay 33
by pathogens and invalidate their toxicity | CLSISI La) 445 01 agewdf ase
Agiaw Hadg o panal!

41- What would happen when .... ? § eens e Sty 13Le =8
Pregnant women is injected by Oxytocin | 4l 9ge yglls Jols 3 pel (i
hormone. 53¥ gl dilae sLiT 11 O aal

42- Rearrange the following statements according to: | &t jlaall prowiall cudi y31 cas) €Y
The periods of embryonic development s ol
b QLud ¥ (o
1%: The heart is completed. . -
Ot ol g Jatisa = Wyl
2"d: The growth of embryo slows down o8 (el 3a 3oL+ Lol

3": The eyes and hands become PP §
differentiated ety Cyecad ubed ¢ IS
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43- Choose (A) or (B) then, compare between:

(A) Primary immune response &
Secondary immune response
(Concerning: types of responded
cells — the time needed)

(B) perforin (perforating protein) &
Interferons (Concerning: the secreting
cells — function)

() ol (1) ot guadt i sl -8V
i At ¥ e it duloiua®¥ (1)
g9 S (4 Aoy il e Lo
&M‘C@}Yb W‘ LjMaﬂ
(Bl
e (pa) Clg @ 0¥y (31558 il ()
(s g9 3) pad | LSS g 43
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44- Polypeptide chain consists of the | joles e ea il die Aty - ¢ ¢
following amino acids respectively: b el i ple ATLS ¥
O Y= WY — (g 0
004G Aot Oliga gt Calsy
: o poles Y

Proline | Alanine | Arginine
Olardl | Ga¥Y | G Y
CCC GCG AGG

1t Write the sequence on mRNA which | das s oLe Glaslicidl s« ¥y
translated to the previous amino acids | o g a1 mRNA

adding start codon and a stop codon. | s zautiaie¥ sl
2% Using the previous mRNA as template | (g8 Lgtf Lacine coi )it
for DNA complementary strand (B g1 Gl 93 g8 sl g s

Galett MRNA anscnl s Lol
DNA to yi st ctlag
e JalS gt
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45- Explain the role of each: 2 (0 JS A3 p gl A youlll Le - £0
1*: Umbilical cord in human embryo O ¥ (picn B (6 paad ! S ¢ ;r,i
2%: Corpus luteum to the fertilized ovum. | whes! B> G2 sa0¥l puanll: Lsls
g
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